










































15

21

5

12

9
20

11
22

5

10

16

1

17

8

13

19

3

14 6 7

4
6

14
18

3

21

2 8
Coulter knife element 

Genesis 3   :  5 pieces 
Genesis 5   :  8 pieces 
Genesis 8   : 13 pieces 
Genesis 10 : 16 pieces

Genesis 5 without seed hopper

RTP PageGenesis 3-5-8-10  Optional: Coulter kit 215111 Code

122PR004-PP11



RTP Genesis 3-5-8-10  Optional: Coulter kit 2151Pag 11 Code

C
re

a
te

d
 w

ith
 S

ol
id

W
or

ks

ITEM PART NUMBER DESCRIPTION REMARKS QUA
1 402.140.290 Distance bush Ø20/Ø14.2 L=29 1
2 402.140.500 Distance bush Ø20/Ø14.2 L=50 3
3 406.210.055 Distance bush Ø30/Ø20.5 L=5.5 2
4 406.210.090 Distance bush Ø30/Ø20.5 L=9 1
5 406.310.040 Ring 2
6 410.520.190 Bearing block 2
7 468.032.502 Disc Ø250/ 3mm 1
8 468.102.600 Arm 2
9 468.121.700 Lock plate 1
10 470.083.100 Pivot frame coulter 1
11 472.451.700 Support bracket 1
12 523.060.320 Linch pin  Ø6 1
13 575.041.270 Spring 1
14 713.200.150 Bearing 6304-LLU 2
15 802.121.700 Bolt M12 x 170 - ISO 4014 4
16 802.140.650 Bolt M14 x 65 - ISO 4014 1
17 802.140.900 Bolt M14 x 90 - ISO 4014 3
18 804.060.200 Bolt M6 x 20 - ISO 4017 3
19 830.060.060 Self Lock Nut M6 - ISO 10511 3
20 830.120.120 Self Lock Nut M12 - ISO 10511 4
21 830.140.140 Self Lock Nut M14 - ISO 10511 4
22 880.060.100 Grease nipple M6 DIN 71412A 1

222.153.000 Coulter kit Amount for 1 piece

Quantity per coulter knife element



1
14

12
5

4

13
9

2

11

3

19

7

18

3

4

17

1

8

15

10 12 6 11 7 13 9

16

Coulter knife element 

Genesis 3   :  5 pieces 
Genesis 5   :  8 pieces 
Genesis 8   : 13 pieces 
Genesis 10 : 16 pieces

RTP Genesis 3-5-8-10  Optional: Fixed coulter kit Page 11A Code 2151

122PR004-PP11A



RTP Genesis 3-5-8-10  Optional: Fixed coulter kit Page11A Code 2151

C
re

a
te

d
 w

ith
 S

ol
id

W
or

ks

ITEM PART NUMBER DESCRIPTION REMARKS QUA
1 830.140.140 Self Lock Nut M14 - ISO 10511 4
2 802.140.900 Bolt M14 x 90 - ISO 4014 3
3 830.120.120 Self Lock Nut M12 - ISO 10511 4
4 802.121.700 Bolt M12 x 170 - ISO 4014 4
5 830.060.060 Self Lock Nut M6 - ISO 10511 3
6 804.060.200 Bolt M6 x 20 - ISO 4017 3
7 713.200.150 Bearing 6304-LLU 2
8 802.140.650 Bolt M14 x 65 - ISO 4014 1
9 468.102.600 Arm 2
10 468.032.502 Disc Ø250/ 3mm 1
11 402.140.500 Distance bush Ø20/Ø14.2 L=50 3
12 410.520.190 Bearing block 2
13 406.210.055 Distance bush Ø30/Ø20.5 L=5.5 2
14 406.210.090 Distance bush Ø30/Ø20.5 L=9 1
15 575.041.270 Spring 1
16 402.140.290 Distance bush Ø20/Ø14.2 L=29 1
17 470.083.450 Support bracket 1
18 468.121.700 Lock plate 1
19 864.120.030 Washer M12 - ISO 7089 2

222.153.010 Fixed coulter kit Amount for 1 piece

Quantity per coulter knife element



 

 
 

 
6

2151



2151























851




































